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Part~III )
ECONOMICS

K (Honours)

! PAPER—VII
| © Full Marks : 90

Time : 4 Hours

me JSigures in the right-hand margin indt’cate full marks.

Candldates are required to gwe their answers in their
own words as far as practicable.

|
Nustrate the questions wherever necessary.

|
First Half
- {Indian Economy - I}

|
i Group—A
|

1, l‘Answer any five questions : 5x2

'(a) State two problems of national income estimation in
i India.

{Tum Qver)



(b) What do you mean by industrial sickness?
{c) What do you mean by procurement price ?

(d) Write two reasons of low agricultural production in
the last five years.

{e) Write two policies adopted by the Government of India
to combat poverty in the last five years.

(fiy Write two steps taken by the Government of India to

facilitate rural industrialisation. "

{g) What is the share of secondary sector in India's recent |
GDP ? State two. causes of its low share.

(h) What do you mean by 9Yood security’?

Group—B

Answer ahy three questions.' 3x5

2. Write the causes of rural unemployment in recent India.

3. Write a short note on agricultural credit facilities

prevailing in India.

C/19/BA/Part-3/ECOH/7 {Continued)



4, What is the role of Small industries Development Bank
of India ?

I
5. W\lrite a short note on Targeted Public Distribution System
in India,
| ;
6. Dpscuss the recent changes made in calculating GDP of
India.

|
7. qive a briéf account of the Human Poverty Index (HPI).

| z
1 droup—C

Answer any two dﬁestions. 2x10

| 2
!

8. qn'tically examine .the role of Public Sector Enterprises
1h Indian mdustnes Why is privatisation required for

pubhc sector enterprises ?
!

9. Write vividly about the recent trends of unemployment

1;‘1 India after 2010 and the causes behind these
tlfends.
|
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10. Analyse the new thrust areas in Indian agriculture which

is necessary for rapid agricultural growth.

11. Discuss the changes that occurred to the Industrial Policy

of India in the era of economic reforms.

Second Half
{ Indian Economy - II')

Group—A
1. Answer any five questions : 5x2

(a) What has Government done to electrify every house

in our country?
{b) What are the major exports of India ?

(¢) What do you mean by parallel economy ?

(d) What are the present unemployment rates in different

sectors of India ?
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i
lfe} What is TRIPS ? In what purpose, is it used ?
i

() What is the idea of ‘mid-day meal scheme’?

I(g) What are the non-conventional sources of energy in
i India ?
\

I(h) What is GST ?

[ Group—B

\ .
| Answer any three questions. ‘ 3x5

)
2. 'What are the reasons behind low HDI in India ?

|
3. :Write about the main recommendations of Raghuram

| Rajan Committee on banking sector.
@
|
\
4. | Write the major reasons of the conflict between centre-

:state financial relations.

Y

|
i .
5. Write about: the recent trends in labour-migration in

' India.
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10.

11.

Discuss the steps taken by Government of India to spread
education and health care facilities to all Indians.

Write a short note on mutual funds.
Group—C
Answer any two questions. - - 2x10

Write about the new trade policies adopted in 2015, which
are to be continued tili 2020.

. Write vividly about the major steps taken to build up road

connectivity and communication system throughout

India.

QOutline the recent changes in the policy of RBI for
ensuring credit supply to the priority sector in the era
of financial liberalisation.

<

Give an account of India’s balance of payments (BOP)
position in the recent phase. Do you think that the policy
of trade liberalisation has aggravated the problem of
deficit in the BOP of the country ? * 5435
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